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Question Number : 1 Question Id : 550053801 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

;v o S < ow DAL = o :
Let f:R—>Rbe a function defined by t(x):T. If « 15 an element i the

domain of fwhose image is —, then the sum of all possible values of such ¢ is
o

g ] '
£:R>Rooatrdy, f(x)= ‘% ™ Ao, £ ag), HB#E'D a8 Swredo

o/

l
1 G308, HODow0 — 0B, WY\ Bhred B ITS o v Awdo
(/. o

Options :
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Question Number : 2 Question Id : 550053802 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let f{x)=|x| and g(x)=|x|+a, (a>0).For 0<x<b. {(x.y)/g(x) <y <f(x)}
represents all the points in the interior of

X) =|x|08at g(x)=[x|+a. (a>0) wivdocro. iy 0<x<b 3
{(\ y)/g(x) <y < f(x)} ardod Docowd)
Options :

a parallelogram

28 DATOAIG BAN0 S5° D0 &otron
1.¥ ‘

a triangle

, @S Szdmo S°H0 &otrraw



a square

. WS SABH0 SOV eotrow

acircle

. WS o S"Do eotrraw
4.

Question Number : 3 Question Id : 550053803 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If there exists a k™ order non-singular sub matrix in a matrix Pof order mxa.
then the rank (p) of P

mxn D80 (0 38 P & k & 610 rerde DTS HHNSS,
P g, §6(p) 038
Options :
satisfies k<p<m
k<psm &0 &d 0802008
1. %
satisfies k<p<n
. k<p<n & &) HER00S
2.
satisfies k < p < min{m.n}

,E=ps min {m,nj & &y DEORE
3.



1s equal to k +1

. k+1 £ 2d750

Question Number : 4 Question Id : 550053804 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

-

\ l—an Ay A by, by by . E— .
If A= | and B= , then which one of the following is True?
|8y 3y Ay U)Zl by, by,

Y b, b, b
A:{ #7E 0 } B:L11 bl- bﬁ 0B, 0\t & 08 TS B VS(HW?
2852 23

dy Ay dy

Options :

. ATBB'A =B'AA'B

The orders of A"BB'A and B'AABare equal
y ATBBTA #8030 BTAATB o 08:a7reen 2&5°&0

The orders of A+B, A" B, BA' are equal

A+B. ATB. BAT & 0835rren D37d0

3.%

Rank of A and B are equal

A 208050 B o §8 Hardo
4. %



Question Number : 5 Question Id : 550053805 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In a matrix A, if all the sub matrices of kK™ order are singular and there is one
non-singular sub matrix of order r (r < k). then the rank (p) of the matrix A
A0d a7 & kd 3668 edargsen wd) o erin Argse wow, w81 S
3680 (1 <k) Feroen 6038 o, v\t args A dwg) €8 (p)
Options :

satisfies r<p <k

rsp< k&0 éﬁ:} DS
1.Y

isequal tor

T VA0

2.

is equal to (k—1)

| (k-1)%0 250
3.

is equal to (k+1)

(k+1)% 25000
4.

Question Number : 6 Question Id : 550053806 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If ~/—3—4i =1e®® then 1’ tan®=

—3—4i =16 es003, 293D 1’ tan6 =

Options :

Question Number : 7 Question Id : 550053807 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If z;=2-3i and the roots of the equation Z +bz’ +cz+d=0 are i.z, and Z,
then b+c+d=

7,=2-3i08ak0 7' +bz’ +ez+d=042086m0 cing), fureren 1,2, w6k
7, wand, oy b+e+d=

Options :



9—-101
<

. 10-10i

Question Number : 8 Question Id : 550053808 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

7 It

If w 15 a complex cube root of unity, then cosl Z (k-o)k-0")—
\ k=1

175 )

175 )

DEERY) 8 (ooég 20N TPVO 1) WONS, WG cosi Z(k—o))(k—o)z)i_ =
\ k=1

Options :

N

Question Number : 9 Question Id : 550053809 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



: /1-1 . T
Let the two values of z= " be z,and z,. If —< Arg(z,) < Arg(z,) <,
+1

then arg(z, )+arg(z, )=
11

g —F Q8. G0t DD Z; 08080 Z) WL,
+1 :

< Arg(z)) < Arg(z,) < 1 900, W)\ arg(z;)+arg(z, )=

’JJ|n

| A

Question Number : 10 Question Id : 550053810 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If « and B are the roots of the equationx’+x+1=0, then the quadratic

. N3, qal0l2
equation whose roots are o™~ andf s

1 20080 B 00, 20BN X' +X+1=0 @0, 20rTS, B\
o gdaty B o Sarerenr $9A% 96 HRVSE0

Options :

X2 4+x+1=0

1.¥

% X°—x+1=0
-2 £ 2 =0
52 6 2:—0

4$¢ X +=XH+2L=

Question Number : 11 Question Id : 550053811 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If a and f are the roots of the equation 2x* —4x+3=0,then
2(0t+B*)+3(a’ +B)

o+
PEBeAN 2X° —4x +3 = 0 G3g), dareren o H8ak0 P I8, 0y
2(a4+[34)+3('a3+[32;)

o+ )

Options :



Question Number : 12 Question Id : 550053812 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If a and B are the roots of the equation ax’ +bx +c =0, then the equation whose

| 1 1,
1oots are a+f and —+— is
o

0 08050 B o0 VS8R0 ax’ +bx+c=0 A30E) TR 90, BN atf

1 1
28050 —+— O Awreren 1 $DAD HAEEE0
o

Options :

acx” —(ab+bc)x+b* =0
. .

. acx” +(ab+be)x-b’ =0
2.

acx” +(ab+be)x+b* =0
3.V



acx’ —(ab+bec)x—b* =0

Question Number : 13 Question Id : 550053813 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the roots of the equation 16X’ —44x” +36x -9 =0 are in harmonic progression,
then 1ts greatest root is

8680 16%° —44x% +36x-9=0 gy, dureren FTd) 388" col,
WD\ T (182 Qarvo

Options :

¥
.J;|U)

b | W

(SN

P | =

Question Number : 14 Question Id : 550053814 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction






If 2® divides 16! and 2°" does not divide 16!. then n =

16! &0 2° e3ARo S8k 16! & 27 erfoss 'S, XD\ 1=
Options :

w14

Question Number : 15 Question Id : 550053815 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

- - r s . =
The coefficient of X in the expansion of

|

= alog), DRSS’ X' aIng), (eso
(1-2x) ]

Options :




Question Number : 16 Question Id : 550053816 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If 3x°C, +8x°C, +13x°C, +18x°C, +23x° C, +28x°C; =kx2*, then k =

3x 5('0 +8x 5(‘1 +13x 5(13 +18x 5(‘3 +23% Cy+28x 5CS =kx2" wod, vy

k=

Options :

| %33

ZIH 37
31






Question Number : 17 Question Id : 550053817 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

in—1) _ (n—1}

The least value of n such that ' C s+ C 2 < nC.‘8 is

(n-1) __ el A : v
Co+  'C, <"Cy o0agtw ol n g SIY dewd

Options :

]wlil

—_—
h

Question Number : 18 Question Id : 550053818 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If a seven digit number formed with distinct digits 4, 6, 9. 5. 3, X and y 1s divisible
by 3. then the number of such ordered pairs (X, ) is

DD o3 46,9, 5, 3. X &8k y 08 i)dbdé 28 &) @030 Qo 3 &

2PR02eICIB08, )\ e9tH08) 0oy en (X, ) © D03

Options :



4.% 10

Question Number : 19 Question Id : 550053819 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

s | SR o I - < N (8
Y esin SR i
8 hod

sin
Options :

L
4

1.%

oo | W

o | W
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Question Number : 20 Question Id : 550053820 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

. |
In AABC, ifcos A.cosB.cosC=—. then tanAtanB+tanBtanC+tanCtan A =

N

|
AABC’, cos A. cosB.cosC = OB,
tanAtanB+tanBtanC+tanCtan A =
Options :

1.*“4

Question Number : 21 Question Id : 550053821 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If cos(6—0),cos6 and cos(B+c)are in harmonic progression. then 2tan0 =

cos (B-at),cosb SoBatn cos(6+0) roedy S 36 ¢’ &of, CI)NoV 2tan’f =

Options :



Question Number : 22 Question Id : 550053822 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If cosA+cos(A+B)+cos(A+2B)+... upto 1 terms =
0_;’ 2A+(n-1)B| . nB B m 3n Sn 17n
5 TN .\

SlIl—LOSEL— then COS—+COS—+COS—+...+C0S——=
\ 2 2 19 19 19 19

cos A+cos(A+B)+cos(A+2B)+... n DS H8D0 =

[2A+(n- )B) . 1B B
eos| ——— 'sm—aosec— OB, WY\
l‘ 2 2 2
m RJi 3 177
G085 —+ 08—+ 08—+ ... £ 05—
19 19 19

Options :

1.*1



Question Number : 23 Question Id : 550053823 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

/

%. J1+¢0s 20 :% and

If two angles «, [ are such that 0 < a. p <

I-cos2p 1
= B:—, then (2014 )=
I+cos2p 7
n 3 l-cos2f 1
0<a, P<—. yl1+c0s20 =—=00000 *—r—==— eﬂdi))&é.)g.pm [es]n%)
1 V5 I+cos2B 7
Seren a, f &oll, 0\ (204P) =
Options :
s
1. % 2
g
6
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Question Number : 24 Question Id : 550053824 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. : . a
cosho +smho=e’ and sinhx =——.then tanhx =
o+1

. _ o
cosho +sinho=¢’ S08asw sinhx = — 2900, SNy tanhx =
o+

Options :

a

i o .
1.*"0' t

20

ao—1



Question Number : 25 Question Id : 550053825 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In AABC. if 1; =21, =313, then

AABC&’ 1; =21, = 31; 20008, @95\
Options :

% b+c=2a

Question Number : 26 Question Id : 550053826 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
g A L b . PR
In AABC.i1f tan—+ tan— =—.then sin i cos }:
2 2 s v 3
A C Db . (A+C)
AABC ¢, tanT—'tan;:— 290003, DN SN ( ;:
Z Z S = \ 3
Options :
|






Question Number : 27 Question Id : 550053827 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In AABC, ZB=60° and ZA=75° If a point D divides BC in the ratio 2:3,
then sin /BAD :sm/CAD =

AABC &' /B=60° 8ot ZA=75°. D focosp BCA 2:3 30\¢°
DasR008, i)\ sin /BAD:sin/CAD =

Options :

].\_{\/2:\/3






Question Number : 28 Question Id : 550053828 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
- 3 2 |z
X'—6X"+9x"+5x-20 ; L
i & KT\ - =f(x)+ &y, B , then 2(a+b) =
X"—X-2 X+p X+(
xt-6x’+9x*+5x-20 . a b
. =f(x)+ + 29008, DDV 2(a+b) =
X =X=2 X+p X+q
Options :
| f(7)
f(6
, « £(6)
, « £(5)
@)

Question Number : 29 Question Id : 550053829 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If a point C divides the line segment joining the points with the position vectors
2i-3j+2k and 3i-j-2k intheratio 2:3, then the distance of C from the point

with position vector 2i-j+k is

2i-3j+ 2k Sobato 3i-j-2k e I veseaTe Dok S8 Sar
o) C & Dok 2:3 My &' e, 2i- ok 4 werrde
Do) ol C 3 o drdo

Options :

Question Number : 30 Question Id : 550053830 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If 5=(2X+y)if33—;9ﬁ and l_):zi—rj—(x—y)E are two collinear vectors. then
X 420y =

a = (2% +V)i+3]+9k 80808 = 2i+ - (x - y)k &0 Bocd HEDAD HOITS,
W)\ X +27y =
Options :

1241

L« 1512

, « 1072

, v 1729

Question Number : 31 Question Id : 550053831 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let 5:5—2]. B:Z]+3k. c :pi+qj and a:pj—qE be four vectors. If
(ExB). ¢=3= (Exl_))a then 3p+q=

a :i—Zj. 5:2]+3E. E:pi+qj 208050 azpj—qﬁ e e AEBVRLETO.
(EXB).E:.%: (BXB)& ©aB, WY 3p+(=
Options :

v 0



2. %
3.3@—2
4.$$6

Question Number : 32 Question Id : 550053832 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let a=i+2j+3k and b=1-2j-3k be two vectors. If A; is the area of the
quadrilateral having a,bas its diagonals and A, is the area of the parallelogram

having a.b as its two adjacent sides, then AA =
a=1+2j+3k 2Bakw b=i-2j-3k e Got HBIVRIL0ER, a,bew
Z)Sg’wmdo ééod)aao o&usb Q?@é&» A 8o a.b e ee?oél oz (o

DB et B0 TS DTV[K Ay oS, B\ AA) =

Options :



Question Number : 33 Question Id : 550053833 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

For some real number A, if the area of the triangle having a=3i-j+Ak and

-

£ ok B s ya g g SIS ;
b=Ai+]-3k as two of its sides 13 5 then the number of distinct possible

values of A 1
28 D8 08 odf A8 a=3i-j+Ak Sodaty b=hi+- koo docd

195

-

Foareorr A Sabao UL CIWE RN a3 3"(:55:3&

2

Z)a:)&)i QLD 130335

Options :

Question Number : 34 Question Id : 550053834 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If the sum of squares of the deviations from the mean of the data x,, (1=1,2,...,n)

is nX". Where ¥ is the mean of x,'s. then the sum of squares of x,'sis
68030 X; (1=12,..,1) H% S¢S0 dvoc ISwrre STve go nX’ eond
(99, X 036 X0 g, 206 [0), B\ X0 ST Ao

Options :

Question Number : 35 Question Id : 550053835 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In a commuttee of 25 members, each member 1s proficient either in Mathematics or
in Statistics or in both. If 19 of them are proficient i Mathematics and 16 of them
are proficient in Statistics, then the probability that a person selected at random
from the committee is proficient in both is

25 008 D0 o w8 S 9O R He3chods’ e, 3*’0&355 ?Qoéﬁ ™o
S Boc oS R HIWT )oerdd. DOS° 19 K08 (iedioss &0, 16 B30
Fofs T8 HAWPGS, @ St Aod AiFEDSore Jodds B w8
2% Bodo '8 WG od DogPidyd

Options :

1
1.% S

| W)

Question Number : 36 Question Id : 550053836 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If one ticket 15 selected at random from 30 tickets each with a distinct number
from 1 to 30, then the probability that the number on the selected ticket is a
multiple of 3 or 5 15

1 %00 30 6% o 0w Aod, HO B35 B w8 DAY dowyy SO
&9)8 30 B3 dod ATFE,D:dor a8 B35 K0 Jods 35, & Jods % 856

D (o Doay, 3de 5 aws), Hhe30 o6 R0Er(S

Options :

[W—

4

]$31

)
<:>|\'

Question Number : 37 Question Id : 550053837 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A and B are independent events of a random experiment if and only if
A Q08050 B e a8 oirdycdy$ DAairdin aing) d(dod ubden ©

Options :



P(A|B)#P(AnB)
1.%

_ P(A|B)=P(B|A)

2.

3. % Ha

B) = P(A|BY)

, » PA[B)=P(A|BY)

Question Number : 38 Question Id : 550053838 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

From out of 100 enrolled students, two sections of strength 40 and 60 are formed.

If you and your friend are among those 100 students, then the probability that both
of you are placed in the same section is

H06) 08 B6Y JTEL Woc., 40 2BAKH 60 b Jrrjdhen o Tothd VEW
60T, D, A &8 100 08" o, b GEP 28 05 §
SET000IE R0

Options :

08 ~ 08 ~

100 ~
C 40

6,476
100 ¢~
2.V s




100
08~ , 08
CssT Co
100
C,
4. .

Question Number : 39 Question Id : 550053839 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

For a binomial distribution with mean 6 and variance 2. P(X22)=
290806050 6 B3 DD 2 (L 28 BRI Derasos P(X22)=
Options :

1

~9
s,



Question Number : 40 Question Id : 550053840 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In a city it is found that 10 accidents took place in a span of 50 days. Assuming
that the number of accidents follow the Poisson distribution, the probability that
there will be 3 or more accidents in a day in that city. i

w8 6" 50 Bave SEHAS” 10 Arren oDV AT, PATTY
SENERE FONTD DT e BRGNS, & 6o’ W8] Baves’

3 Our 0908508 IS S DTN 2L Vogrd(d

Options :

2.V
: 0.2
- l—(‘l.Z)e
1.22
1- -0.2
4.% &

Question Number : 41 Question Id : 550053841 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If A=(2, 3)and B=(-4. 5)are two fixed points, then the locus of a point P

such that the area of APAB 1s 12 square units is
A=(2.3), B=(4 5)o0 Both 08 Dodhoiyuand, vy APAB dwefo
12 5,087 06n AR &0c: P Dothowy) ahog) Dododeiw

Options :

i x* +6xy+9y° +22x+66y+23=0
1.

, X —6xy+9y’ +22x+66y+23=0
y X’ +6xy+9y° —22x —66y—23=0

" -
. X —6xy+9y" -22x-66y—-23=0

Question Number : 42 Question Id : 550053842 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The sides of a triangle are 3x+2y-6=0,2x-3y+6=0 and x+2y+2=0.
If P(0.b) Lies either on the triangle or inside the triangle, then b lies in the

interval
3X+2y-6=0.2%-3y+6=0800 x+2y+2=03086men Gabao a0
Boaren. P(0.h) &9 Doty e Gavzop M Sae e Ggoao &0 md o,

b &o& ®oddo

Options :



Question Number : 43 Question Id : 550053843 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A point on the straight line 3x+5y =15 which 1s equidistant from the coordinate
axes will lie n

3%+ 5y =15 B2 Gotir AEPITFVL DAXS Erded’ God Do)
Options :

. st d
either 1% quadrant or 2™ quadrant

v 1 & S0 Soe 2 S 085" &otod

4" quadrant only

45 Fc5063" HrS) otwod

2. %

~rd
3" quadrant only

L% 39 Fe30e5" DB €008



d

either in the 3™ or in the 4™ quadrant

r 35 Tor 48 G0’ cotwod

Question Number : 44 Question Id : 550053844 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

{ \ f \

. 5 ; ; ; ¢ C 1.
The equation of the line passing through the points | ct,, — | and : Gty —| 18
! tl / \ tz /
{ o \ / c \
ch | Sodakn | ct,, — | Doty ot Jadh 6Y S wS6E0
, = )
1/ \ 20
Options :

v X+t L y=c¢(t;+ ;)

. y+t L x=e(t+ 1,)
2.

® X-t,y=c(f;+ ;)
3.

. y—t,t,x=c(t,+ t,)

Question Number : 45 Question Id : 550053845 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The line x +y=k meets the curve X' +y' -2x-4y+2=0 at two points A and
B. If O is the origin and ZAOB=90", then the value ofk (k > 1)is

x+y=k, X'+’ ~2x-4y+2=0 559 A S8aio B Dothosdyo 56
D0c08. 0 806 Lo Dodox S8y ZAOB =90° ond, @)\
k (k>1) a3o8) densd

Options :

Question Number : 46 Question Id : 550053846 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the angle between the pair of lines x* + 2\/'2-xy—'ky3 =0,k >01s 45°, then the
area (in square units) of the triangle formed by the pair of bisectors of the angles
between these lines and the line x +2y+1=01is

X+ 232xy+ky' =0, k> 0 & Sarosoriyo Gng), 068 030 45° 090008,
R\ & Garotud0 Sgjrio Sndwudy Ao S daraburo
SoBosw X +2y+1=0 808 6yt Gaba P70 (15.00ME')

Options :






) | =

Question Number : 47 Question Id : 550053847 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The coordinates of the point (3.-7.5) in the new system, when the origin is
shifted to the point (-1,-1,-1) by the translation coordinate of axes, 1

0 Dot (=1 -1.-1) AL AErDS wFrw Ddrodd HOHEH (T

S8\, (3,-7.5) Dothosy a3, S Adrasren

Options :
o (4.-6.6)
L« (4.6.6)

L« (6.6.6)



ACERD

Question Number : 48 Question Id : 550053848 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let A(l-12), B(6.11,2), C(1.2,6)be three points. If /;,m,n,are the direction
cosines of AB and /,m,n, are the direction cosines of AC.

then

Il,+mm, +nn,

A(L.-1.2). B(6.11.2). C(L.2.6) &0 ey Dodosdhododorro. [,m,,n,e0 AB
cing) 68 E2S ev Wy f,m,.n,00 AC Glog) B5 §% 08, Wy

I, +mm, +n.,

Options :




Question Number : 49 Question Id : 550053849 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the plane 56x+4y+9z=2016 meets the coordinate axes n A, B and C. then
the centroid of the AABC is

56x%+4y+92=2016 @ dvo, ArdsEUD A, B dan € 0 ¢ 759,
W) AABC aiwg) Sodarao

Options :

(12, 168, 224)
1.%

(12,168, 112)
2.%

- 224
12,168, = |
I.\ D y,
3.V
224
|12, 168, — |
\ o
4.7

Question Number : 50 Question Id : 550053850 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



) 2 ) 2 2
If the circles X" +y -2x+4y+c=0 and x"+y" +2x-4y+c=0 have four
common tangents, then

X' 4y -2x+4y+e=0 8ok X +y +2x-4y+c=0 od 9T T
&) D13, Bade Gotd, WRYh

Options :

Question Number : 51 Question Id : 550053851 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The locus of the poles of the tangents to the circle X* +y° =2x+2y-2 = 0 with
respect to the circle x*+y’=4, is

X'+y'=4 dido d@s X4y -2x+2y-2 = 0880 Gwg) 0\6) T
03”56 Qa0 Dok

Options :

) 3x% +2xy+3y° +8x—-8y—-16=0
1.°%






X*—2xy+y —4x+4y+8=0

3x7 —2xy—3y" +4x+4y+16=0

3. %

, x> +y*—4x+4y-8=0

Question Number : 52 Question Id : 550053852 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. . . » . , p) b
Let the circle S which is concentric with the circle x™+y—2x+ky+4=0pass

through the point (3, —2). If one of the diameters of S lies along the line
3x-2y+4=0, then the radius of the circle S is

X+ -2x+ky+4=0 @3 S0 § D¢ Sofatorr &) S 0 ddo (3.-2)
Dotiasd) oo Fdocsogrorro. S ag) ToswOS 28 3x-2y+4=0e3
G Dot G085, B\ Hdo S A, (Yo

Options :

\/149

1.% -
, % 31
38






Question Number : 53 Question Id : 550053853 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the length of the chord 2X+3y+k = 0 of the circle x"+y° —6x-8y+9 = 0

is 2+/3. then one of the values of kis

X' +y —6x-8y+9 = 030 adog), a§ 2x+3y+k = 0 awg) Tesy W3

wowd, K\ k g Db’ 288

Options :

Cx 31

Question Number : 54 Question Id : 550053854 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If Q i1s the mverse point of the poimnt P(2,3) with respect to the circle
X'+ y'-2x-2y+1=0, then the circle with PQ as diameter is

X+y-2x-2y+1=0 Hyd0 céagt"é, P(2.3) Docdosd) AB0S), D" Docdosd Q
o8, W)\ PQ A i $9Ad Sdo

Options :

3%x* 4+3y° —14x—16y+37 = 0

1. %
X +y*—4x—-6y+13 = 0
2. %
5%° 45" —16%—227 433 =0
3.V " -
L 2X7+2y"-3x—3y-11 = 0
4. !

Question Number : 55 Question Id : 550053855 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If a parabola having its axis parallel to X-axis passes through the points
(0.-1), (6.1) and (-2.-3). then the point at which this parabola cuts the X-axis is

X- o8 ddroddorr ey $908 a8 drrdwabo (0.-1). (6.1)&8ak
(2.-3) Dockougr thorme' oo, eyt & Drrdwabo X- wEd) docod
2oc0eY)

Options :

1.¥



Question Number : 56 Question Id : 550053856 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let S(1.0) and §'(0.1) be the foci of an ellipse such that SP+S'P =2 for any point P
on the ellipse. If A(xy, y;) and Al(xz. y,) are the end points of the major axis of
this ellipse. then X, +X, =

28 66 S0 aing) T2 S(1.0) Lo $(0.1). & 46 Bgo A3
Dockoid) P § SP+S'P =2 evcihrjiotaorr &) abiusoorro. & B By80 a8,
69;5@ 0] DothdR A(Xy, ¥1) 08080 A%, 12) w008, ONY

v

Options :



Question Number : 57 Question Id : 550053857 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

o X' (y-2)°
If 6 is the angle between the asymptotes of the hyperbola — - $ - ) =1 and
7

5 )
cosB=—. then a" =

-

13

X' (y-2)°
a4

=] e3DTrHVo0 oiboéz7 2903 :obd;\éa)v :nc:)lg%e £20 0 080350

-

5 )
€08 6 = —e90008, NN
13

Options :

E or 18

1—6 oo 18

1.% ©






Eor 6

ESWG
7

E01'11

16

Question Number : 58 Question Id : 550053858 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let P (b k) be the point of contact of the tangent to the hyperbola
5x* =7y’ =35=0 which is parallel to the line J2x- y+A=0. If P lies in the
third quadrant then 3h*-2k =

J2x - y+h =0 20¥ S daroddor sod Sx -7y° -35=0
BEITIVSTES Ko Gy o) a3g). 08, Do P (h. k) wavsromro.

P Surcisd o8 o, eyt 3h*-2k=

Options :

388
1% 9

2.%’,36






Question Number : 59 Question Id : 550053859 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let flx) = |[x-3+[x+5 existsl». Then the

- f(x)-f(a
and A = 4 acR/lim 1x)-1

number of real numbers which are in (—,~3)(3,%0)but not in A is

+‘x+5] 208050 A = {a eR/ lim Hx)-HW bngfgéo} 090000,

X—a X—a

RN (-2,-3)U(5,2)& Gotar, A & 6 R Do Moz

f(x) = [x-3

Options :



Question Number : 60 Question Id : 550053860 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

lim ( lim y((ex)"Y - 1)):

X—1 \y—x

Options :

Question Number : 61 Question Id : 550053861 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Jm —+Jcos ' x
X=-1
ey VEF
|
—, X =—1
AT

is right continuous at x =—1., then i =

-
{
|

Jm=+Jcos' x

|

| X#-—1
fx)=y VX*l

' |

| ) X ==]

' AT

9 DAOWO X = —1 DS SE VDD L VOB, WDV 7=

Options :

Question Number : 62 Question Id : 550053862 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



3 A d’y dy

If y=xlog| —+—|.then x(x+1)—=+x—-y=
Lax a ,,’ dx*  dx
(1 ' ’V dy
=xlog| —+—| 2900083, LIS Nl \(\41) —y=
“lax a &
Options :
0
5 % 1+X
3¢ 1
4.% %

Question Number : 63 Question Id : 550053863 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
J ‘/1 1 logx”) < ()
——sm 0g X Xzt (x) -1
Hifx)={"\ 2 ( l . then lin}) L)-10)
X— X
0, x=0
'( (1+lsm(locr\) xz0 f(x)=1(0
fx)=4 1 2 ) 7T ewond, SON=E 210
W x—0 X
0. x=0

Options :



1s equal to £(0)
. f(0) £ Do
1.

does not exist

bzgaﬁfbéo S°¢0
2.¥ @

1s equal to

1 | —

4 8O VAP0

31"*2

1s equal to (1)

f(1) £ DTS
4. %

Question Number : 64 Question Id : 550053864 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Let f(x)=Max{cosx,sinx,0}. If the number of points at which f(x)is not
differentiable i (0,20247) 1s 1012k, then k =

f(x)=Max{cosx,sinx, 0} dvgoero. (0.20247) wodtoss’, f(x)edgd0b0
50 Dothoape Doy 1012k eond, ey k=
Options :

/2

)

1.%



Question Number : 65 Question Id : 550053865 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

N 3 2 . . .
If f(x)=px”+qx" +1x+tattains Jocal minimum and local maximum values at

x=-2and x = 2respectively and p is aroot of 9x° ~1=0. then p+q+1=

x=-2 &80 x=2 3¢ f(x)=px’ +qx° +1x + ST ¢ £ ook
fgl’bs (1823 Dedew TFokre08 &r8asn 9x*-1=0 aR0g), w8 HPo

P ©ONB, RN p+q+1=

Options :

1.*4



Question Number : 66 Question Id : 550053866 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

: o ;
If the tangent drawn at A(2.1) to the curve X =1+— meets the curve again at B, then
y

Sgo X = 1+L, $A(21) Bl QAR :abd\a&) & SF) &6V B 3¢ CHR RN
y- Y

Options :
the tangent drawn at B coincides with the tangent drawn at A

B 3¢ ADD 016, B, A 3¢ ADD 016, Baod D38D008

1.%

- n
the angle between the tangents drawn at A and B is neither 0 nor a

A 208050 B © 36 DD 16 B0 do6 S 0 576,
2.V

5°¢0

o | A

the tangent drawn at A and the tangent drawn at B are perpendicular to each other

A &6 QALY {obdgéao Qobodo B 96 QAR R0, Jew 08 8o woworP &otrow

3.%

the tangent drawn at A is parallel to the tangent drawn at B

A 3¢ D :obd-)éa;, B H¢ B K);)d-\é&)&‘s.) Nerohdorr &otodd
4. % @ ® “ ®

Question Number : 67 Question Id : 550053867 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction






i b : ; ; GG
The points on the curve y"=x+smx at which the normal is parallel to the Y-axis lie
on

y'=x+sinX 9508, J Dochadw 3¢ wdeoe Gpen Y-u5d3 diroddor
GOl €3 DotV
Options :

a line parallel to Y—axis

Y—0952 08 DedroddBorr ol B0 €0ro
1. %

a circle with centre at origin

, S0T0DCD SoGoTr (10 Oyhod oo
2.

a parabola

208 DoPHLOOo
3.¢

a pair of lines bisecting the angle between the coordinate axes

NEr0g eFe dudjio S D] pokd Sarakr)op eotrow
4.%

Question Number : 68 Question Id : 550053868 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Given that the solid obtained by rotating a rectangle about one of its side is a
cylinder. If the perimeter of a rectangle is 48 cm and the volume of the cylinder
formed by rotating it is maximum, then the dimensions of that rectangle s

28 ZHao cségoé 8 B 38063000 SNSRI 8 DA I6\EB0G
Bevnod. w8 BY 360 hivud 48 2.0, 2080k A GOy G
AP0 T D0BATE0 B0 oS, &3 ég SB080 B

Options :

% 14,10
L %20.4
L« 18,6

, v 816

Question Number : 69 Question Id : 550053869 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

z

X -1

J ~ - dx =
X’\/Qx“ —9x"41

Options :

|

2X*
1.%

4 2 1
V2x* +2x% +14C




1 i >
> Vax*—2x3 +1+C

2%
1 - >
_Jax* —2x> +1+C
i
3, ® s
1 .
_Jax* 125 +14C
. 2X°
4.% =

Question Number : 70 Question Id : 550053870 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

(.Xz. 0<x <l 5
f(x)=+ =3 jf(x)dx:
l\/: 1€x<?2 0
Options :
421
1.v 3



Question Number : 71 Question Id : 550053871 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
- , &)

If the graph of the anti derivative g(x)off(x)=log(logx)+(logx) " passes

through (e, 2023-e) and the term independent of X in g(x) s k, then the sum of

all the digits of k1s

. ‘ , ) ‘

£(x)=log(logx)+(log x) ~ cawg) vSrgRA g(x) dwg), Sar I

(6. 2023—¢) Docoxy) oz s BoBAkd g(x) & x TR HASAW k and,

Y k 6°Q ) woso ngiw

Options :

Question Number : 72 Question Id : 550053872 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



j 3lomE gy

Options :

210g|x’+(‘

1.%
log|x|+C
2.V
, —log|x|+C
3.
 —2loglx|+C
.

Question Number : 73 Question Id : 550053873 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

I =

Xsin ' x

V1-x7

O Gy |




VE) ]
__+_,,Tt
. 2 12
(45
R
4. %

Question Number : 74 Question Id : 550053874 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
0(x) o

Given that —{ J f(t } (x))f'(x). If Jf (t‘)dtzx2 sin 27X, then the value
0 0

of £(8) 1s

(’»(x X3
= J f(t)dt | =0 (£(x))f'(x) &0 @sdeaciod. jf(t)dt:xz Sin 27X 003,
x| 9 g 0

0\ f(8) aog) Desd
Options :

27

1.vY 7



Question Number : 75 Question Id : 550053875 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

1( 1 1 l L

Iim — | 5=+ + =4+ w+ et
n—x n i el,v' n e-‘-'.' n e3 n 2 )

Options :

Question Number : 76 Question Id : 550053876 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



=
20»‘)‘;911 X A1~ \|

If J —— — dx =k. then “—1\+1 | =

70725111‘){ i -)07 ;COS_X ’

\\ j J

v . ')
2024x “x

J 2003

— dx =k e00a3, XD [

2k )
Y D093 ppgnteE T

+1 ;
Options :
27072
|« 2023
, v 2025

2022

2024

Question Number : 77 Question Id : 550053877 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The area bounded by the curves y—1=cosx, y=sinx and the X - axis between
x=0and x=71s

Xx=0&0d X=7 sﬁxby.?“. y—-1=cosX, y=smx o8aiw X - g s008
DGR DT VLD

Options :

o
+
| A



25;3
3.% 2
-
2
4. <

Question Number : 78 Question Id : 550053878 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

e B e . ; . dy :
If lim y(x)=—. then the solution of X’siny—=21s cosy=
XD 2 T dx i
: s 3 .. dy
lim y(x)=— ®ond. x'siny—=2 cﬁoosz7 o5, COSY =
X— 2 o dX e
Options :
U2
% X
2% X
|




9

wa

A

Question Number : 79 Question Id : 550053879 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

a, b. c. d are arbitrary constants. Then the corresponding differential equation to

y=ae +be™ +¢ cosx+d sinx is

a.b, ¢, d 00 oirehydyS 6 Todoen. y=ae +be” +c cosx+d sinx &

IRIDOTFRANM G0G BHLVD DLBEEW

Options :
A4 =
Yy =Y
.Y " i
@ +y=0
2.% 7 ”

Question Number : 80 Question Id : 550053880 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If y=y(x)is the solution of

dy x-ycosx (m!

dx l+smx

Options :

572

1.¥ 8

7’
8

(]

Section Id :

Section Number :
Mandatory or Optional :
Number of Questions :

Section Marks :

Enable Mark as Answered Mark for Review and

dy x-ycosx (m)| ,
= W= ‘:— ,then y(m) =
dx l+smx \2/) 8

aRog) TS ¥=(x)wowd, e y(1)=

Physics
55005317
2

Mandatory

40
40

Clear Response :






Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 81 Question Id : 550053881 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Wrongly matched pair among the following
$08 TOS” SLDNT 2 BODLWAD 2308
Options :
Galileo Galile — Law of inertia

3OOGr 70O — 2ES] DAHBOB

1.%

Michael Faraday — Law of electromagnetic induction

D0BS FBE - DO, 08 26Es oD
2. %

Rudolf Hertz — Generation of electromagnetic waves

LTSy 37§ — DENBOT) 08 SEOTTR) ST B
3. % | =

C. V. Raman — Wave theory of light

.. T°VQ — S°0e3 HSor fbcg’oéo
4.¥ '

Question Number : 82 Question Id : 550053882 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction






A person walks up a stalled escalator in 80 sec. When standing on the same escalator,
now moving. he is carried up in 20 s. The time taken by him to walk up the moving
escalator 1

63 D) ) T06 T(° S DS SRS 80 s V0 DEIBR. B ) TS
SEoR0A) D T Mecd 38 20 s 0" P3 Bo\A08. SornBVD)

QR B00 D S AP S IS HE 700

Options :

]$4s

4 v 165

Question Number : 83 Question Id : 550053883 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A car moving with uniform acceleration covers the distance of 200 m in first
2 seconds and the distance of 220 m in next 4 seconds. The velocity of the car after
7 seconds 1

) 880 & HAIrERNR) S 2068H 2 d80ud’ 200 kS Erod), ST
4 280008’ 220 Jobg drdo HAIPER. 7 Dkow ST T Srfo

Options :

, v 10 ms”



20 ms

- x|
15 ms

. 30 ms'l

Question Number : 84 Question Id : 550053884 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A flywheel s rotating at a rate of 150 rev/minute. If it slows at constant retardation of
_v) . . ~ .
1 rads™, then the time required for the wheel to come to rest is

28 (90 $go 150 rev/minute Gend gdoeo B0t B, O rads” 0
653 60 HATR08, 90 o 2SS TS 2 S0
Options :

258

Question Number : 85 Question Id : 550053885 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

“The uniform motion is possible when no frictional forces oppose™ is the concept of

‘066 wmen HG3308RD 2006 SodaN &éso‘m" 97 POP DH0H?
Options :

The Greek thinker Aristotle

. B> SSDY 8IS
1.

The Scientist Newton

FRDS AT(OD
2.% ¥

The Scientist Copernicus

T2 §08) 8

3. %

The Scientist Galileo

FRDS OV
4.

Question Number : 86 Question Id : 550053886 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A car is moving along a circular path having coefficient of friction 0.5 and radius of
curvature 162 m. Then the maximum velocity of the car that can travel without
falling outwards is

(Acceleration due to gravity = 10 ms™)
2066 teago 0.5 oty Sger msirgo 16.2m o S8 8o Sowrd w8
BR00) 8. 0 & 5 woB3 HATDor Hasreocsi (B i

(thdod S(beso =10 1ns’2)

Options :

, % 18 ms™
= -1
, ¥ 32.4 kmh

L 18 kmh™

5 -1
4% 32.4ms

Question Number : 87 Question Id : 550053887 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A ball of mass 10 g moving with 4 ms™ collides with another ball of same mass at
rest. If 0.2 is the coefficient of restitution of the collision, then the ratio of the
velocity of first ball to that of the second ball is

5073 10 g o) 2,8 208 4 ms” Sod’ SO 0B Ed(o3 o S%Qe)?gaée )
28 02099 & §0B. & wDHTS0 @w&bga Koeag0 0.2 90 DAL 208

TS, Botisd 08 DS udf Mg



Options :

N L | 1 SRR

N | =

Question Number : 88 Question Id : 550053888 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
~ T ( i A \‘! . . . .
A force, F:[ 41+31-5k ;I\ is acting on a body making an angle 6 with the

horizontal. Then the angle ‘6 is

$3208 ‘0’ S0 835" a8 S0 » oW F:; 4i+3j-5k {N R B3R00t3, &2

&0 0 dewd
Options :
J22h
COS
5
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A circular plate A of radius 1.5t 1s removed from one edge of a uniform circular plate
B of radius 2r. The distance of centre of mass of the remaining portion from the
centre of the plate B is

2t (0o o w8 8O HyTrs6 DS B a8 otk dvod 1.5 ajrdo o
S8 DS A D Sofiorrdd. WA ertio AL Qbso"% So¢io o8 B axos),
@03 Sogdo Rwoci Gotd (o

Options :

-

2

Or
5 ¥ 14
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The angular momentum of a solid cylinder rotating about its geometric axis with
1 I . il

angular speed 40 rad s~ s 2kgm™ s~ If the radius of the cylinder is 10 cm, the mass

of the cylinder is

401ad 5™ Eedoth 9GS Fitoro BROOR) 8 D R0 BES FTrBog0 T
wlgibé“aoﬁa ©go pdorr 2 kg m’s™, R0 m&&go 10 cm evond a0 (03
Options :

~ 1-
« 2Kk

[}

1.

10 kg
W g
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Time: 0

When a body of mass 8 kg is attached to a spring balance, the reading of the balance
1s 20 cm. Instead of 8 kg, if another body of mass M 1s suspended from the spring

balance and s made to oscillate vertically, the time period of oscillation is ;s. then

the value of M 1s

(Acceleration due to gravity = 10 ms™)
8 kg (003 o) 208 SR 28 )0 TR SHBEDY yoh grw Both

20 cm. 8 kg @03 exdoew M B(o73 o 8 SR & 2)oh gRvshd

T
30802 §82 Loror EOTre) BokVAED B BVTFHER S0 ewond M

o

RV
(BoSC &G0 = 10 ms’z)
Options :

v 4ke
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Under the action of a force F = -75y where F is in Newton and y 1$ in meters. an
object of mass 3 kg executes simple harmonic motion. If the velocity of the object at
the mean position is 2.5 ms ™, the maximum acceleration of the object is

F=-75y 00 03 doboby H0% 3 kg 3073 o) 2,8 D0 D6V iFod) § Sedo
Saboso) 8, 98¢ F Amend & Sobokw y g, ardis ddo 3¢ gm0
S0 2.5 ms™ evond $%0) (162 (Gt

Options :

2
.- 5 ms

22
, % 7.5ms”

=)
- 10 ms™
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The time period of a 1500 kg satellite is equal to the time period of rotation of the
earth. The altitude of the satellite is nearly

1500 kg 3502 flo 08 &diran ang) 86 S0 Fra GIS) Baoe
SOV VATNN & TR0 QW) I AT

Options :

. 42.211 km



v 35.840 km

3 % 6.400 km

4% 13.800 km
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Time:0

A steel rod of radius 20 mm and length of 2 m is acted upon by a force of 400 kN
along the length. The values of stress and strain are respectively

(Yeee = 2x10"Nm?)
20 mm m&&gm. 2 m T wé &), 8690 Tt dowd 400 kN avwo

DaIrhod & 4¢ & DS SBokwy 4O Jewden SEIT

(6, ¥o0f tragiinr = 2x10" N ™)
Options :

% 1.96x10°Nm™. 0.16%

J 3.18x10°Nm™>. 0.16%
2.

% 3.18x10°Nm™, 0.32%

8 Ngyyy=2 :
4% 4x10°Nm™. 0.2%
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Time: 0

A tank of oil has height of 4 m and density of850 kgm™ . The gauge pressure at the
bottom of the tank i

5 : ; 2
(1 atm = 10" Pa, Acceleration due to gravity = 10 ms™)

w8 E0(08 & 4m 0 AP Sk, &8 AP o 850 kgm. &7jo8 weorhid

B0 A0S DEDA

(1 atm = 10° Pa, o Sdeso = 10 ms?)
Options :

v 34 kPa

. 384 kPa

. 284 kPa

; 200 kPa
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In the given triple point curve as shown in fig. the curves AO, BO, CO represents

B0\ 200D G Doy 908" AO, BO. CO 580000 2rdoisa)

Options :
AO = Sublimation curve, BO = fusion curve. CO = Vaporization curve

AO = &d3® 930, BO = 200858 950, CO = eran@dd dgo

1.%

AO = Fusion curve. BO = Sublimation curve. CO = Vaporization curve

L A0 = 20D 50, BO = 6313 g0, CO = ePan @D 350
2.

AO = Fusion curve, BO = Vaporization curve, CO = Sublimation curve

. AO = 200853 $g0. BO = w?nbepbé 950, CO = &3\3d dgo
3.

AO = Vaporization curve, BO = fusion curve, CO = Sublimation curve

AO = gran@dd $%0. BO = 208800 950, CO = a3 30
4. %
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When a monatomic gas expands at constant pressure. the percentages of heat supplied
that 1s used to do external work and to increase its internal energy are respectively

D8 DTS TORY DB D0 I TED0NHY Y, B 608" riey D
Sor$ S8k w0dds 3§ D8 IerAS IAEFAEDD TEe SET
Options :

| v 40,60

thn
~J]
h

2. %

, « 60.40

|
N
2
h
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Time: 0

The heat energy supplied to a diatomic gas at constant pressure is 210 J. then the
work done by the gas 1§

08 BRHEAPINE TAANDILD DB 2o 38 210 63 33 ST SV,
TOI0) WX DA

Options :

607

1

L 1507



. 9017

4 % 21017
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A monatomic gas at 630 K expands adiabatically to 27 times its initial volume. The
final temperature of the gas is

630 K ¢ a8 DEDBATES TOIVY) ?gtsﬁgs 80 oo §'9 20R08reES 27
o {8 D0od, ko) i), 6 &g

Options :

. 30K

1.

« 130K
. 170K

70K
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For the given concentration, if the ratio of the diameters of the molecules of two
gases 1s 1 : 2, then the ratio of their mean free paths is

@aﬁsw&b ey ég, oleJabRoloviblv)[3 03»525 9LV m&&o 50:.13{1} 1:2 e
T8 EDE BT QS
Options :

]\{;41
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The amplitude of a wave, represented by displacement equation

1 . i ;
y=—=sinott—cosot will be

\/g b

w8 Sdofd gwé Ho? 208650 y :Lsin o] ilcosmt 290N TP S0

\/5 b

DBS o?
Options :

a+b

]wab



Va+/b

Ja £+/b

3 ® ab
a+b
AR
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Light enters from air into a given medium at an angle of 45° with interface of the
air-medium surface. After refraction, the light ray is deviated through an angle of
15° from 1ts original direction. The refractive index of the medium is

5708 TP’ K000 w8 Airdgo &°A3 43° 18 Sraod HHINDA. H5FSD0
B0AR SWTS 508 30 SO &% Aod 15° dtwdo FoBNG. oD cirdgo
gy, 3B oeaso

Options :

|« 1732

Lo 1414
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The relation [ =1, c0s°6 is

(Ip— Intensity of incident light on the analyser, I - intensity of emergent light from
the analyser, 6 — angle between plane of polarization and the axis of analyser)

[=1, 008”6 90D

(I - D32eesd 2 DSDPAD) 5708 BP9, [ - D3nesed thoe wisvgéém
508 698, §- 508 ¢ dndvo DBaky DFs0 wE3 Ld| So)
Options :

Newton’s law

8&3“5&)5 QoS00
1. %

Snell’s law
. fog_é Qo300
2.

Brewster’s law

_ 3736 dawdvo
3.

Malus’s law

% ATV Aad0o
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Time: 0
: g g SRTER E_[7 120 Lt
In aregion, the intensity of an electric field is given by E :( 2+3) +k ) NC™. The

; A . = g s 5
electric flux through a surface of area 101 m™ in the region is

w8 B30 DS £0 03 E:(Bi%j flz)N("l. DT 101 m? o &0800

bl

oo Z)ao?gé DTET0 DLV

Options :

- 2 -1
- 5 Nm™C

L 10 Nm’C™

, % 15 Nm’C™

4 v 20 Nm’C™*
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Time:0



The figure shows three points A, B and C in a uniform electric field (E). The line
AB is perpendicular to BC and BC is parallel to E. If V. Vg and Ve are the
potentials at A, B and C respectively, then the correct option i

D480 DesyS Edo (E) &' durch Dothosden A, B dodain € e dod
roméd. AB A8 BC 8 votorr 00030 BC A E 8 ddmoddor &) 3.
AB, C 0 ¢ o8 TEIS e S Va, Vp, Ve 0w, 308 TS

7
NOAAR. a
Ay
R ——
_.‘—)
Bo s cal 7
—) 5

—_—
Options :
e Va=Va=Ve
V, =V, >\

PR B C
2.V

. Vi =V Ve
3.
Lo Var Vo=V
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Time: 0



Between the plates of a parallel plate capacitor of plate area A and capacity
\ . l .
0.0251F, a metal plate of area, A and thickness equal to ;of the separation between

the plates of the capacitor is introduced. If the capacitor is charged to 100 V, then
the amount of work done to remove the metal plate from the capacitor is

D08 T A Bak0 3308 0.0251F o w8 DiTedy DL SFH0E DUV

1
Qockg, DTofo A, SFOG DUgY Mg Crdods ga Hody &0t o wé &8P

DOER S0, € b & 100V AEAEDIS0 SR, &SPy DS
Sr06 208 Deonds HoleH B0DHONH HY

Options :

;w625 ]

, % 30.2 pJ
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In the circuit given below, if the bulb s to glow with maximum intensity, the value
of R' s

(neglect internal resistance of the cell)

305 d\® doabod’, wey (61 SIS Do 90%%) R Deod

(2000 ©038) B engoisod)

6V
I
30 R
_VW—.
W)
LAV, 045 W
Options :
~E
1 ¥ 125 £3
450
5 ® 6 Q
, % 85Q
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The incorrect statement regarding the given circuit

AN HVAIEAS Do) By DDWVHDD
2€Q)

10V

3Q

Options :
current through 2 QQ is 2A

20 or(O° DDaPoth DES PIETAD 2A

current through 3 Q is 4A

30 or(T° Dot DES DIErE 4A

>

potential at C is 12}

C 5 TBJoeS 12V
Q o

potential at A is 10 V

A DS TEDoneS 10V
@D ol
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A charged particle when enters a uniform magnetic field moves in a helical path. If
its angular velocity is 47x10°rads™ and its velocity in the direction of magnetic

field is 3x10°ms™ then the pitch of the helix is

w8 QAT Sta0 2,8 6O WK 08 o &' HDIod) HB\ers drgods
Dosredoday. o Sedad i 4nx10°1ads™ 2980k waHIK) 08 £ 6% &
@ 0 3x10°ms™ , eand 28yo 0, Fhorroddo

Options :

. 5 cm
, * 10 cm
3 15 cm

20 cm
4. %
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The force acting per unit length when a very long straight conductor is carrying a
steady current of 1 A and the direction of the current is from south to north is

(The horizontal component of the earth’s magnetic field at the place is 3x10° T and
the direction of the field 1s from the geographical south to geographical north.)

orer JEDD w8 88) D Tirgod’ 1 A DEDENG DITROD) 1 bk
e ysr 38 B0 ol ESTS 6D\ & J5°08 TS
DABVW0 ot

(2 93408 2 G0y w08 Eo ), §a HAP0SE woto 3x10°7 T
SoBako Edo aIg), B3 ePHOE o Mod IFHYS eddo DY Gokwod).

Options :

o 3x10”° Nm!

S % 1x10~ Nm!

3.~=“""O

1.5x10° Nm™

4,%
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Time: 0

In some ferromagnetic materials magnetization disappears on the removal of the
external magnetic field. Such materials are called

£y o8 @Qb&gjoé bwg’oef ey e.oos)a‘boé ) Fofioddin

030 086t ety BiA0ky DETen
b 2



Options :
soft ferromagnetic materials

B0yE0RD DY e.ooﬁob*’zyoej DT
1.¥ '

hard ferromagnetic materials

58 F e.oo:bb*’boez’a DT
2. * i

anti-ferromagnetic materials

3708328 e.ooj)a*’zyoej DT

3. %

semiconductors

2930 ISR
4.3 ©
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Time: 0

When the current through an inductor is changed at from 2 A to 6 A in time 2 s, emf
induced mn 1t 1s 3 V. Then the inductance of the inductor is

w8 650 thorm YFD) DoE &0 2 A Mod 6A D25 5700 & ArBd,
@Y 3V emf HBSIO. wod & o o) S0
Options :

% 14H






,15H

0.6 H
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Time: 0

An inductor 1s connected to an ac source of frequency 50 Hz. The frequency of the
mstantaneous power developed in the circuit is

50 Hz 82080 o) 8 ac 2d5°08 w8 Ui Suodncds. Suohod
&) ek T8 &m%o aog, &ag:@qgo
Options :

25 Hz
50 Hz
100 Hz

200 Hz
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Time: 0



If E and Bare the electric and magnetic field vectors of an electromagnetic wave,
then the direction of propagation of the electromagnetic wave is

E S0Baio Beo a8 DeoaiiF) o8 dbotio dog). DS 2Bty 0ok o8
£ P03000% DEAB 08 ol 6 &8

Options :

along the direction of E

E 8% cocodd

1.%

along the direction of B

§ B &%¢5° &0t

parallel to the direction of ExB

E xB 8%%) HArod60m &othHdd

,‘;{2

3.

perpendicular to the direction of ExB

L% ExB &%% ©080m €0t
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Time:0



The maximum kinetic energy of the emitted photoelectrons from a photosensitive
material of work function ¢, when light of frequency 'v' incidents on it is ‘E’. If the

frequency of the incident light is 3v. the maximum kinetic energy of the emitted
photoelectrons 1

29 pdoabog o ws I ) TS derdop V' o o 508
DAY eprdody ' Jugdow (162 (182 3§ E'. 000k 08
z)%;zméo 3V 00 eLre0ly s Q0w 8 (182 33

Options :

¢ 3E+24
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The distance of closest approach of an alpha particle to a nucleus when the alpha
particle moves towards the nucleus with lmear momentum P is d. The distance of
closest approach of alpha particle to nucleus, if the linear momentum of the alpha
particle1s 1.5 P

P Db sidydrio o a8 eserygiao 8 Boggo DY) SERUND) R, Sodsd3
ey S8 6ol dfod 0y P00 d. Py S0 GRS, S Gdydrio
1.5 P e9000dd 308503, esery 478 6ol eoedfods Fraliiaf mdo

Options :

2d
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The strongest force in nature is
&5 308 T°0¢5° B DFBES” ORIATT 2 DY,

Options :



nuclear force

5088 0o
1.°

gravitational force

rbcbw(sédea %3
2. % S

coulomb force

. EPe00) 0
3.

frictional force

;pgea 20
4. %

Question Number : 118 Question Id : 550053918 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
When the temperature of a semiconductor increases then
OSTETS DTG el t5e DOAS
Options :
number of free electrons only increases

QT JOVTTRLL o] S DEMI.
1.%






both number of free electrons and number of holes increase

Ry QVTROO 0| OB Bogrw Vo] Botr HAEHIL.
3.V T

both number of fiee electrons and number of holes decrease

RE" DOV D0 S0B0K Bogre Vo ot Sha.
4. % =
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For a CE transistor amplifier, the current amplification factor is 59 and the emitter

current 1s 6.6 mA. Then the base current 18

CE g;vfbbfoé D50 AIE). TP O 520 39 Bokw el Dcﬁosé 6.6 mA
X e) () VR @ 0 1

9000d BEE0eS” Dol e

Options :

v 0.11 mA

, 1.1 mA
x 11 pA

L« O11A
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An amplitude modulated wave is represented by

le—l +0.6 s1(40x 10’ t)} sin(4x10°t) volt where t is in seconds. Then the ratio

of the upper to the lower side band frequencies is

28 %000 DO wm?gefi&& fooéwi’)rl

10[1+0.6 sm(40><10-*t)] sin (4x10°1) volt 2enEBRANE Aromed. BE& t

500 DEVG oD JDS, B 3*’6;5 FHYTR A3

Options :
v 101:99
L 100:99
J ® 100 : 1
4 % 10:1

Chemistry
Section Id : 55005318
Section Number : 3
Mandatory or Optional : Mandatory

Number of Questions : 40



Section Marks :




Enable Mark as Answered Mark for Review and

Yes
Clear Response :
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 121 Question Id : 550053921 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Match the following

List-I List-II
(Elements) (Valence shell Configuration)
A. Alkali metals L nsznp6
B. Alkaline earth metals II. nsznp5
C. Halogens IIL ns”
D. Noble gases IV. ns'

208 79 2BDGS30E

AT - | T - 11
(Sorerseen) (S0y .gﬁooo De§R0)
A 36 S I ns’np®
B. 36 0,88 & Fen 11 ns’np’
C. S ud w III. ns”
D. eé@g SIP03006)L IV. ns’

Options :






L,A-IV.B-III.C-II.D-1
2.¥

A—~TEB-LC—-HOED-TV
3. %

. A-IV.B-LC-IILD-1II
4.
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Time:0

Which of the following electronic transitions in hydrogen atom will require the
highest energy?

$08 Q ES JTD DBSGH0 D VS(BS 33 WIVE2HA?
Options :

]wn=4mn=5
2.V,,n lton=2

_n=3ten=:=5

[l
'y

n=2ton
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Correct order of basic strength of metallic hydroxides
$08 &' B G TG eere DBED B0
Options :

- Ce(OH)z < Lu(OH)3 < Eu(OH)3
, % Ce(OH)s < Eu(OH); < Lu(OH);
v Lu(OH); < Eu(OH)3 < Ce(OH)3

. Lu(OH);z < Ce(OH); < Eu(OH)3
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Which of the following oxides is highly basic?
S08 &3¢ © &5° 9O 28 Ao SOb DE?
Options :

Cr,0O;






Na,O
«../ &
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Which of the following fluorides of Xenon does not exist?
So& Xe awg), d J'8E D &dS eocted?

Options :

4 XEF},
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The correct order of bond angles of the following 1s

308 T8 206 Sere VOO 00

H>O NH; CHy SO,
I IT III IV



Options :




IV > > > 1

SV >I >1>1

,x 1 >0 >0 >V

,x1 >0 >1IV > I
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Identify the correct statements from the following

(A) The compressibility factor (Z) for an ideal gas is 1

. i 235 238 : .
(B) Urananium isotopes (~ U and " U) are separated by converting them into UFg
vapours

(C) Decrease in temperature increases the kinetic energy of gas molecules

$06 T8’ O TR Botsod

(A) 28 566 T  Podd(S Awsn(Z) 1

(B) anBodo o emyodo (PP U udakw * U ) o) UF; AUV R T
S

(C) eaTtisi 3R, Taho LYY HS2 3§ DA

Options :






A. C only

, A. C S

B. C only
L ® B. C &g

A.B only

A. B &g
4.
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At a given temperature, the density of an ideal gas is proportional to

(P =pressure of ideal gas)

2O e SO, 28 Bi8) ok Fogd BIS WS Erdodrded’ Gotwod?
(P= 0556, Ok o3(40300)

Options :

1
1.$3P
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The weight percentage of C and H in a hydrocarbon is i the ratio of 4:1. What 1s its
empirical formula?

28 Q@fs"daé & C 8ain H o a6 7 G 4:1 ™ &) 8. o wdverds
gﬁ”d)éer 28?
Options :

CH

Question Number : 130 Question Id : 550053930 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If the standard enthalpy of sublimation (AqpH®) of solid CO,. naphthalene, Li and
Na are 25.2, 73.0, 162, 108 kI mol respectively, the order of sublimation of these
substances with temperature is

208 COp, DY, Li, Na © pires 6y dogrdyen S 252,730, 162,
108 kI mol™ e egﬁgééﬁ & DO &SR0 207 g
Options :

Na > Li > Napthalane > Solid CO;
Na>Li> avtg;&).s > 208 CO,

1.%

Solid CO; >> Na > Napthalane > Li
205 CO, > Na > o998 > Li

2. %

Solid CO;, > Napthalane > Na > L1

, 8 CO, > =505 > Na > Li
3.

Li > Na > Napthalane > Solid CO;

, « Li>Na> 009 > & CO,

Question Number : 131 Question Id : 550053931 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



When ‘X" g of graphite is completely burnt in a bomb calorimeter in excess of O, at
298 K and 1 atm pressure as given in the equation

C(graphute) +0,(g) > CO,(g).

The temperature of calorimeter raised from 298 K to 302 K. If the heat capacity of
the calorimeter and molar enthalpy change for the reaction at 1 atm and 298 K are

20.7kIK ™ and -248.4 kT mol™, X" in gis
298K, 1 atm 60 3¢ X' g © T8 D erols 36006 & whs udyad

20508 QPO B0 Sd €96

C (rpt5)+0, () €0, (o) oo 366006 elties 298 K soodt 302K 8
20608, SEELE a6, B6) Arerd Jogrdy oy 298 K. 1 atm 4
Soore 20.7KTKT | -248.4 kT mol” eowd X' g o

Options :

Question Number : 132 Question Id : 550053932 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



One mole of PCL(g) was heated in a 1L closed flask at 500 K. At equilibrium,
0.1 mole of Cl,(g) was formed. Whatis its K (in atm)?

(Given R=0.082 L atm mol"'K™)

28 3¢ PCL(2)D 1L e 38" S00 K 56 St S, 020 ¢S

0.1 36 o Cl,(g) i)dbdo&. 83 K, deoid (atm o) doey?

(@d\d8: R=0.082 L atm mol " K™)
4

Options :

|« 27x107
L o 0.455
L« 0.0111

4 % 90.0

Question Number : 133 Question Id : 550053933 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Conjugate acid and conjugate base of HCO; are respectively
HCO; c3ns), 57022085 500 s08050 5P02it) FrEa HERM
Options :

. H,CO, H,CO;
1.



,H,00,, co¥
2.

CO;  HCO,

3. %

, » €03 €O,

Question Number : 134 Question Id : 550053934 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Among the following the correct statements are

I. LiH, BeH, and MgHj are saline hydrides with significant covalent character
II. Saline hydrides are volatile

I11. Electron — precise hydrides are Lewis bases

IV. The formula for chromium hydride is CtH

The correct option is

$08 BS" 8D Tfafen

I LiH. BeH 60 MgH, e 3,8 $A%08 d0iradah vgemote 289

GG . IL GRS FEE 0 a7y 30 DEFTed
I U NS0T (o) ITEE &0 BTN T
IV. §oabo aé o er CiH

2BGD DATTH0

Options :






I, 11T only
L. IIT Sorehad

II. IV only

| ILIV argo
2.

I. IV only

L IV &g
3.V

IIL. IV only

| TIL IV s
4,

Question Number : 135 Question Id : 550053935 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
White metal is an alloy of
DES D05 D& DB S°5ro?

Options :
. Li&Me

5 & Li&Pb

S % Pb & Sn



, « PO & Al

Question Number : 136 Question Id : 550053936 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which of the following statements are not correct?

1. Atomic radius of Ga is less than that of Al

ii. The order of ionization enthalpy of group 13 elements is B > Al > Ga > In > Tl
i11. Boron trioxide 1s amphoteric in nature

$08 TG D HOWAD 57

i. Al %083 Ga £ DEarw vﬁgo SEUR

i, 13 & 00 darese wahssn Qow@so gevdw B>Al>Ga>In>Tl
iil. 650D B8 6316 9 BGOERS DS Gotod

Options :

1. 111 only
1, il o°gsaD

2.% i
1, 11 only

i ii dogBo
3.



RS

Question Number : 137 Question Id : 550053937 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the correct statements from the following.

1. Melting points and boiling potnts of group 13 elements are much higher than those
of corresponding group 14 elements

1. S10 only exists at high temperatures
111. Pbly does not exist

iv. Buckminster fullerene contain twelve 6-membered carbon rings and twenty
5 - membered carbon rings.

308 Tt od VO DddevRD HBood.

i 47D 13 Jarose gOEY, raygsd adide T3 edrdrgs 4rd 14

Nt

Qo5 S0 9OS0TT Gotron
il 088 &t 96 Srddo Si0 eotod
111, Pbly Ddbdd)
1V, 28 6 DT & 6 -5°6)D end) Doakren ot DBARY 5 =~ TGS
QR SVOIreD 6D GOLTOW.
Options :
1, 111 only

1. 111 AT°edad
1.% <






i1, 111, 1v only

ii, iii, iv Aoeeddd

i1, 111 only

i1, 111 sAo°ghadd
3.V ]

1. iv only

1, 1V &5eehad
4.% E

Question Number : 138 Question Id : 550053938 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



NO, NO,

00,

In the above reaction electrophile is substituted at meta position only, due to

2% REd HOFON SHY’ JES, Mt 08’ Srg HOED0BRER0E
QOSIT

I. Electron density 1s more at ortho & para position

e3§ H08akn Jo° géoe‘f QTS Foged AL I Eokwod.

I1. Electron density is relatively less at ortho & para position

esge 2B FT° F0S" WS Fogd Fagorr Sy I eotod.

I1L. Electron density is less at meta position

e F08 JVTS Foged Sy S Soor,

IV. Electron density 1s relatively more at meta position

tr Fdod JVTS Foged Fgorr Ay I Eotoid.

correct answer is
N0R aTe
Options :
I, IIT only
- L IIT &oeghado

I1. IV only

IL IV &oeehadd
2.V






I only
I Sorgda

®

I1I only

. I oo
4,

Question Number : 139 Question Id : 550053939 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
I[UPAC name of the following molecule is

308 e9cs) asws), [UPAC Fole®

C,H B
| PARLS 9 | r
HsC—CH = C —CH —C—CH—CH —C =C-H
Cl |

C,Hs
Options :
6-Bromo-4-chloro-3.7-diethyl-5-ox0-8-yne-2-nonene

6-85°27-4-§8-3.7- ZRBS -5-55-8-09-2- SID

1.%

6-Chloro-4-bromo-3.7- diethyl -5-keto-7-ene-1-nonyne

6- £ -4- 5’3 -3.7- BaBS -5-3¢5°-7- &S -1- SR
2. %



4-Chloro-6-bromo-3,7-diethyl-5-keto-8-yn-2-nonene

4- §8 -6- 5’ -3.7- BaBS -5- 3¢5° -8- 29 -2- IS
3. %



4-Bromo-6-chloro-3.7-diethylnon-7-en-1-yn-5-one

4- 8’57 -6- §8 -3.7- 8BS I -7- & -1- 29 -5-49

4.v

Question Number : 140 Question Id : 550053940 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Out of seven crystal systems, how many have face-centred unit cells?

D D48 DD 08" AV Do Sodd e RSy Py on?
Options :

;% 1

Question Number : 141 Question Id : 550053941 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What 1s the osmotic pressure (in atm) of 0.02M aqueous glucose solution at 300 K?
(R=0.082 L atm mol 'K

300K 56, 0.02M (r8% aomran) ¢Tdatn 2Eoa (atm o) dod?
(R=0.082 L atm mol 'K ™)

Options :

1
[ x 0.492

| 0.492

3 % 0.988

|

, % 0.988

Question Number : 142 Question Id : 550053942 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The elevation in the boiling point of aqueous urea solution 15 0.104 K. What is its
AT¢ (in K)) value? (for Water Ky = 0.52 K kg mol ™, K¢=1.86 K kg 11101'1_)

OHrB0Er 20 TR w?zbe;séé .g% 698 0.104K. & AT (K o) deod
Jod? (D Ky=0.52 K kg mol™, K¢=1.86 K kg mol™)

Options :

% 0.0186



Question Number : 143 Question Id : 550053943 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time : 0

Molar conductivities at infinite dilution A for Ba(OH),, BaCl,and NH,CI are
457.0. 240.6 and 2130 Scm’ mol™ respectively. The A, for ammonium hydroxide
(in Sem*mol™) s

wod D00 96 Ba(OH),, BaCl, Soboso NH,CI © arers arirddio, 1,
S 457.0, 240.6 Lr8asn 2130 Sem” mol™, AT Joho FES\G Ay Deid
(Sem’ mol™ o)

Options :

, % 1683.2

, % 1080.2

, « 2130.0

N
4
§]
2
)
o
r2



Question Number : 144 Question Id : 550053944 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The time required (in hours) to reduce 3 mol of Fe** ions to Fe?* ions with 2.0
~ . vt 1 'l
amperes of current is (1 F=96500 C mol™)

2.0 o0 DS & 3 ard o Fe'* watrdovdy Fe** m gardBostrds
esb:od:»dias 500 (fobed®) (1 F=96500 C mol”)
Options :

%302

L o 402

Question Number : 145 Question Id : 550053945 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following 1s an example of a multi molecular colloid?

308 T°OS” B L3V S Serand L s GEEIrSn
Options :

Sulphur sol
:’oe)bé 3'36

1.



Starch sol

¥R

Natural rubber sol

STe NI ANG DoeS

3. %

Soap sol

" I()&Da 3"&5

Question Number : 146 Question Id : 550053946 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Consider the reactions

308 SO0 D830,
L..€043H,—~ 5€H,+H,0

II. CO+2H,—>CH,0H

. 0, +2H,—5 30H.0

The catalysts A. B. C are respectively
et—,fégd?w A, B. C S0

Options

» Ni. ZnO - Cr,0;. Pt
1.9 :



. Pt Zn0O —CL0: Ni
2.

_ CuCl,.Ni, V,,0,

Pd. Pt, ZnO —Cr,0,
4. % .

Question Number : 147 Question Id : 550053947 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The correct statements regarding froth floatation method in metallurgy are

I. Used for the purification of sulphide ores
I1. Used for the roasting of sulphide ores
II1. It 1s based on the relative densities of gangue and ore particles

IV. It is based on the difference in the wetting properties of gangue and ore particles

in frothing agent and water

S Ry Gea &’ 5% poD ¢33 Dowodord O TR0

L. {ogb& TEDV %\Jg% TETE

IL. {ogbé TV a_ég&)o D LTS

IIL. S0¢ o0, V2 Ardijo e Fg Fogdw BTG Gotnod.

IV. d0¢ 2 Srro, 2 Srdid| smrod NS, QD SRS 3¢

ol éo*’éoe‘isi) Syeego.



Options :




[ &IV only
Py [ &IV g

IT & III only

II & III :)fg;i)
2. %

II & IV only
IT & IV g
3. %
I & IIT only
. I & III S
4. -

Question Number : 148 Question Id : 550053948 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

X+Y — oleum

The sum of oxidation states of central atom in X and Y is

X+Y - &Oado

X. Y 08" Sogs HIreae 551566 Jdow angdo

Options :

| v A2






3. % 06

4 % 08

Question Number : 149 Question Id : 550053949 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which one of the following has the highest molar conductivity?

308 75" B3 OI(BS Arerd TS €od?

Options :

Diammine dichloroplatinum (II)

L& AR &S Freddo (I0)
1.

Tetraamminedichlorocobalt (IIT) chloride

S QD G886 Serd (1II) £3&

2. %

Potassium hexacyano ferrate (II)

TEr20300 IPTHOOHS DS (1)
3.Y

Hexa aquo chromium (III) chloride

AN g oado (1II) §3&
4. -



Question Number : 150 Question Id : 550053950 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The formula of tris (ethane -1.2- diamine) cobalt (III) sulphate is:
8 (633 -1.2- & dR)Eerg (1) DT e e

Options :

[Co(H,NCH,CH,NH,),]SO,

1.%

. [ Co(H,NCH,CH,NH, ), ], (SO,),

. | Co(CH;CH,NHNH, ), ], (SO,),
3.

[Co(H,NCH,CH,NH, ), ], (SO,);

4.v

Question Number : 151 Question Id : 550053951 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the condensation polymers from the following
PHBV. Buna-—N. Neoprene. Nylon-6. Glyptal
A B C D E

208 T78eS" DoxVID FOE LR KBosod
PHBV, e0fd—N. JdBrad. 2erd-6. OFS

A B C D E



Options :

| xA.B.D

A; D, E

4.¥ "

Question Number : 152 Question Id : 550053952 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Sulphur containing amino acids of the following are
Serine  Cysteine  Lysine  methionine

A B C D
308 TS’ DO\E &d) WS edren ID?

o

STcS TS OIS TR 5 IS TR STV SIS
A B C D

Options :

| % A.D

Y We






,vB.D

Question Number : 153 Question Id : 550053953 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following bases are present both in DNA and RNA?

308 To83¢5° Q Toreny DNA 08050 RNA Godotdes” gotran?

NH, 0 NH, o
N% N NH XN Chis NH
ry | |
SN N"0 N/&O NAO
LI H H H
A B C D

Options :
1.% C.D
2. % B.C
; A B
4.v A.C

Question Number : 154 Question Id : 550053954 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Food preservative sodium benzoate 1s eliminated from the body as which of the
following metabolite?

e5F8 200550 N'E0HR B0 a0, 3860 K08 S08 @ Boked’Te e (metabolite)
Wiy $30)30087

Options :

benzamide

. Bor0&

phenyl acetic acid

| DRS ES esidvo
2.

benzoic acid

0z"ans es0
3.%

Hippuric acid

b@vsaé 25300
4.¥

Question Number : 155 Question Id : 550053955 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Hybridization of positively charged and negatively charged carbons of the following
respectively are

308 TS’ D% B0k aEEDS 508 080860 HERM

CH, -
\ CH3CEC*-’
H;C " CH,4
Options :
R
. SP, 5P
2 2
, % Sp Sp
3 L3
, = SP". Sp
3 .2
, % SP. Sp

Question Number : 156 Question Id : 550053956 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following is the geminal dichloride?
3088 RBWAD THS’ DB BVS ZETE?

Options :

1.1-Dichloropropane

, L1-g88 IS
1.°






1.2-Dichloropropane

, 1.2-288 Jpd

1.3-Dichloropropane

1,3:g88 oo

2.3-Dichloropropane

Question Number : 157 Question Id : 550053957 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Catechol and m-cresol respectively are

3655 2080350 M- S°eS HEHT

Options :

Benzene — 1. 4 — diol: 3 — Methoxy phenol

, 802D 1.4 cors: 3 —f:m.;so%Q 2aeeS
1.

Benzene — 1. 2 — diol: 3 — Methoxy phenol

i B08S — 1.2 — &c3reS; 3 — i’bwéb HoeeS
2.






Benzene — 1. 2 — diol: 3 — Methyl phenol

v 802D — 1, 2 — &a3re5: 3 — RS DTS

Question Number : 158 Question Id : 550053958 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What are X and Y respectively in the following reaction?

308 ac@“ X 208050 Y e HEHDm DD7?

CH,CH,CHO+2Cu* +OH —»X + Y+3H,0

Options :

_ CH,CH,COOH. Cu(OH),
1.

DCHL.CELCO0 . Cu
2. % T

_ CH,CH,COOH. Cu,0
3.

CH,CH,COO", Cu,0
4.v ) )

Question Number : 159 Question Id : 550053959 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Which of the following is not correct about Grignard reagent?
6 T°§ se6So (80D Sob T°8e5° DB DO S°E?
Options :
It 1s a nucleophile
| 28 dorSairpsS
Forms new carbon-carbon bond

_ §8 5°6)9-5°6)3 o) NN
2.

Reacts with carbonyl compounds

 SENRS DB T 68 S enod
3.

It is an organomanganese compound

L w8 93?3 SroBDD 200) FdH
4.

Question Number : 160 Question Id : 550053960 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



X and Y (major products) in the following reaction sequence are

308 HE%D 665066 X 2o8ain Y (d5ed &y o)

NH,
Acetic anhydride Br,
> X > X
Pyridine CH,COOH
Options :
NH, NH,
©,c:ocH3 COCH;
| % Br
NH, NH,
. COCH,4 ©\COCHQBr
2.
gy ,COCH;
NHCOCH; N
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